TS FEERKIH BB ZES B TFES

A £ WIEIE TR | 4T R Bk

$r I | S AIRA 5, 400 5, 000 /A 400
S zmun 5, 400 5,000 A 400
) — AR 4,100 4,000 A 100
T B2 BRI 1,300 1,000] A 300
5o (e 3, 500 3,000 A 500
”é H A 3, 500 3,000 A 500
A 3, 500 3,000 A 500

R R &I 15,729 15,615 A 114

X TR B G 13,625 13,625 0

K2 A e 2 B A 13,000] 13,000 0

2 DO G 625 625 0

SERIBEARE Ay &N 2,104 1,990 A 114
RSy AN 1,504 1,390 A 114

P N 600 600 0
LA 35,319 37,029 1,710

A IR 3 A 8,516 8, 837 321
AT R 2 S SRR AR 8,516 8, 837 321

X AT RZ LA 26,032] 27,048 1,016

BN 5 — il S AN 18,335] 18,335 0

A HRE A A 0 1 1

GR— A FEZIEOIA 790 790 0

77 U — R A 2,412 2,412 0

WU B AR R R e 60 60 0

FERIME e T % 30 4 4, 435 5, 450 1,015

R % FE R 771 1, 144 373

TR G S 2 LA 186 186 0

3T S SR R A 585 958 373
ST 799 799 0
A A 791 791 0

AR B 8 8 0

AR BUA 8 8 0

FEIA 400 400 0

Z DO 400 400 0

F 0 U7 A — P 400 400 0

EHEAITA 920 900 A 20
EAITA 920 900 A 20

B — E A B A 920 900 A 20
IS 151,979 160, 725 8, 746

JEEN B O ) 10,029]  38,784] A 1,245
LN 10,029]  38,784] A 1,245

FEEN RN (R R A 4,632 4,067] A 565
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I EHR AN (A %) 252 130 A 122

I EHR AN (—f%) 4, 380 3,937 A 443
JEEN T SARNTERHUA 14, 500 13, 850 /A 650
JEEN T SARNTERHUA 9, 000 8,000 A 1,000
Il T B SR FERHIUA 0, 500 0, 850 350
IR TP B AE SRR A SRR 14, 958 17, 305 2, 347
FELA 13, 864 15, 989 2, 125
FEAHEBINA (KF) 100 106 6
FEAHEBIA () 994 1,210 216
HAE SR ATEHIA 3, 050 3,692 642
BRI (50 2, 300 2,976 276

I TR B ARE SRR S S ER AR 750 1,116 366

Z DO DOFZEIA 74,810 83, 027 8, 217
SREHEEIUA 31,916 39, 369 7,453
Mk B R v ¥ —ZFEEIA 42, 894 43, 658 764

P e ik B — B R SRR o, 180 4,000 A 1,180
ERSIERE N o, 180 4,000 A 1,180
A RO o, 180 4,000 A 1,180

Z DML DOFFEILA 2, 158 2, 302 144
Z DO DOFZEIA 2, 158 2, 302 144
SREHEEIUA 2, 158 2, 302 144
S ISR AN 2l 22 1
EQ RNV RN 21 22 1
Ea RN NIVE RN 18 19 1
A A R AT TR Sz HUORILJE L 2 LA 1 1 0
A SR A TR S URLE L 2 A 1 1 0

A i S5 T N7 TR 4252 UM BB 24 A 1 1 0

Z DDA 666 716 o0
HELA 666 716 o0
HELA 666 716 o0
FREHETIAGH (1) 222,071 230, 508 8, 437
PAINGE ST 160,909 167, 221 6, 312
i P B S H 690 730 40
Tk BB S HY 68, 783 74,217 0, 434
Tk BH -3 22,191 23, 596 1, 405
FEH R B AR 53 H 48, 951 46, 665 A 2,286
TEERRMIE S 20, 294 22,013 1,719
HEHE 41, 959 46, 226 4, 267
B S H 3, 220 3, 940 720
G AT S 10 10 0
3K A 2 10 10 0
DR Bl A2 2 S HY 035 025 A 10
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FA I S 147 117 A 30
AN 300 300 0
KB BV S 4, 435 4, 435 0
A 3, 367 3, 367 0
A 200 200 0
KiE 868 868 0
PO > 4,219 4, 120 A 99
SRR 794 835 41
HU R 3,425 3, 285 A 140
THFE s ELf o0 2 S 4,222 o, 191 969
TRBUEL > H 2, 118 2, 152 34
BIEESCH 7, 866 8, 739 873
HUi 2 S H 636 153 A 483
At 4B S HY 1,213 1,777 064
Jik e A2 e S HY 767 1, 747 980
el B e 767 1, 407 640
Z B F 0 340 340
FIURBA 2 > 1, 468 1, 528 60
T TR S 1,901 1,964 63
ik B S H] 153 264 111
JEHRE 1,079 1,119 40
B REE M 6, 696 7,005 359
FHEF 740 856 116
FLBLARRSCH 23 21 A 2
HMESCHY 201 203 2
b e 10, 634 10, 375 A 259
AR A2 S 664 678 14
Jik e A2 e S HY 380 280 A 100
WHERFFE R S H 1, 485 1, 208 AN
SRR H S 651 751 100
FIRI A2 > 1, 007 850 A 157
T TR S 1,701 1,671 A 30
ik B S H] 60 90 30
FHERREE M 180 180 0
FHEF 480 034 o4
TRBUEL > H 6 6 0
BIEESCH 45 45 0
- SRS 1, 800 1, 800 0
RSPEE 1,106 1,183 77
WA S 773 811 38
[t -S4 186 178 A 8
HMESCHY 110 110 0
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S EERH 800 800 0

Shb4e 3 800 800 0

Bk 4 3 3, 189 3, 208 19

B4 3 3, 189 3, 208 19

Bk 422 3 3, 189 3, 208 19
HREB X Q) 217,491 227, 830 10, 339

IR BE IR (3)= (1) - (2) 4, 580 2,678 A 1,902
iz ”7% TR AR UG (4) 0 0 0
gﬁ i 5 7 P A 0 120 120
i 22 EL % OV s TS 3 H 0 120 120
o MRS R 6) 0 120 120
U | 7 5 A S S (6) = (4) — (5) 0 A 120 A 120
;g ”711 P B R K R A A 13, 041 10, 402| A 2,639
fit B bR KSR AL 13, 041 10, 402| A 2,639
o U NGB — B R KA PR A SN 4, 820 2,489 A 2,331
) MR A B HE T 3 T — B R X4y 240 0 /\ 240
T IR FEY — A Ko A 315 329 14
2 STt — 2 KSR AL 794 815 21
¥ JRE A AR — R XAy R 647 666 19
M 4 S4BT - — Ky 2, 399 2,521 122
HERIBEAEHE T 3 — £ X K B4 245 255 10

HTE S4B T7 (- — R K4 690 698 8
RAER A X FE— % 431 407 A 24

A A LR — R K4y 533 756 223

U N v — T — % 1, 686 966 /A 720

B LB R H T — B % 0 240 240

AT IN S B SR — B A Ky 241 260 19

Z DO TEBILAZE (7) 13, 041 10, 402| A 2,639
SN R X 110 110 0

ol TP E— 110 110 0

P — R KA Rl A4S 13, 041 10, 402| A 2,639

P b R KSR A4 S 13, 041 10, 402| A 2,639

U A B — B R KA R A4 2 ] 8, 221 7,913 /A 308
TAERFIEY — & R KR A 42 ] 240 240 0

Qe R S — B R KR AL 746 736 A 10

MR A B 3 T — B R XY 3, 534 1,213 A 2,321

SR — B R — R XA R 300 300 0
ZDMOTEBIC L 5 K H 6,919 7,138 219

BRI 24 B A 1 4 6,919 7,138 219

Z D OTEB L HE (8) 20, 070 17,650 A\ 2,420

Z DA O TE BN 4L 54 (9) = ()~ (8) A 7,029 A 7,248 A 219

4/5 =Y




TS FEERKIH BB ZES B TFES

5/5 ~<—



